EARAROBREBRT —5 XN—ZXBISH—F 202453898 (4) 22@EHEE4H

8 C2-748 C2 H>5%—i8 BRI
[xE&] 1%&:350,000H  2&:112,000H  3#&:63,000H  43%&:42,000H  53&:28,000H
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
— - < |I|S%HE : -1-1- - WEE (E8)
117217 =y /hry 44 L 1.(3_2).5 1-1-1-1 [39.9 2 (5+229) EL\ 5 =
R:T4 I RD—LEY B:EAIYFv—LA Pl SER
= S St : = = HETE (ER8)
2l7lg | vriLTYYTU— 4% 6 W 1(.33/24.)6 2-2-2-2 | 40.0 1 (4334; *ﬁz&ﬁ}g
RIART—ILYF— B:yvbxveOqV HIAHITT7—L
W 45 | MEEY 1:33.3 3-3-3-3 | 40.5| — 3 | 453 | BBwt ()
318l10] 74 D 56.0 ) © it
A2:Raven’s Pass £F:Macnas M. S. & C. S. Griffi
Nw) — 4 5 | ZSES 1:34.1 8-8-4-5 |40.6| — 5 469 |HHEBEF (E8)
418|9 | NT47—E 56.0 ) o |BAxT
R:O0—RprrO7 B:UE7—F =YV T7—L
. <,y 5 | AlllEE 1:34.2 7-6-6-4 | 40.6| — 6 476 | NBEN (EE)
50101 |Yvo9ryOo " 56.0 20 “3) SiBET
RiNZ—ka1—X B:AUFTZAFAI— ML &&
. EHE— : —7-8- = BABYT (ER)
cM 4 F—ik—F o6 BEe 1(.13/42.)3 6-7-8-9 | 40.5 8 z:g;t N%%g
RiO—IRAA XA BEIVANI—F ARETa—T7—LA
N amat :35. ~10-10- . - THIERE (8
1 : R 4% 5 RS 1(345)1 10-10-10-7 | 41.0 10 (4:57) ;’E#l%ﬁﬂ( )
RS/ Vv T4 B:OADIAVYTAT ARET21—T7—L
S S 5 | DA 1:35.2 5-5-5-6 | 41.8| — 7 | 513 | KBEK (EE)
3 5| XM¥avdkvy & 54.0 /2 © ) J PN
RiXAYIOR—5— B:ST=—5V " S
=~ . SAEE : -9-9- - FHHEEAIE (£8)
ol 6| ¥TOYTIL—R *ARD 1'(348'0 iSaadl bt ! (4_714; mEEE
RiXAY3IVR—5— B:y—vVT ERSHEKE
P = — 8 4 | HXKIEA 1:36.1 4-4-7-10 | 42.8| — 9 34 | HIES (£8)
108Y 2| 7A AT V= 54.0 (/4) (6) | DR
R:Z2MAVITUI—Y B:RFT7II— i &5k
@ 11— —BERIEI
13—7F— 7,8,10,2,5,4,1,9,6,3
20— — 7,8,10,2,5,1,4,9,6,3
IT=5r= 7,8,10,9,5,1,2,4,6,3
43— — 7,8,10,1,9,5,3,6,4,2
0 ILRE
BB 7 350 JA R 7-8 140H & 7-7 260 3ER 7-8-10 260/
B B 7 1004 7-10 2104 o 18 7-8 240 3Es 7-8-10 1,670M
8 1009 8-10 1509 oS- 1 7-8 750
10 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




